Chapter 10: Adolescence and Adulthood

100 MCQs
1.

True or False: Development occurs in childhood, and stops when we reach adulthood.

2. 

Which of the assertions below is true of adolescence?

A.

The boundaries of adolescence are subject to individual variation. 

B.

The age at which intellectual maturity is attained is the same across individuals. 

C.

It is generally agreed amongst psychologists that adolescence ends at the end of the teens.

D.

All of the above.

3.

When does adolescence start?

A.

At the end of childhood

B

10 for girls, 13 for boys

C.

13 for boys and girls

D.

When you achieve sexual maturity

4.

When does adolescence end?

A.

At the end of childhood

B.

At the beginning of adulthood

C.

When you reach a culturally defined age

D.

At 18 years of age

5.

Which statement concerning physical development for boys and girls is FALSE?
A.

In childhood you grow at a fairly steady pace, 5-10 cm and 2-3 kg per annum

B.

Girls experience a growth spurt between the ages of 10-13

C.

Boys experience a growth spurt between the ages of 11-13

D.

During a growth spurt girls can add 9 kg and boys 11 kg a year

6.

Why is the study of adolescent development interesting from a psychological viewpoint?

A.

The changes affect a person’s sense of self and relations with others

B.

Humans are consciously aware of the changes they are undergoing

C.

These changes prompt adolescents to think of themselves as young adults

D.

All of the above

7.

A particularly important physical change during puberty is the emergence of secondary sexual characteristics. But which of the following are typical secondary sexual characteristics in boys? (Please highlight all correct answers.)

A.

An increase in subcutaneous fat.

B.

Nocturnal emissions. 

C.

The menarche.

D.

Increased production of androgen. 

8.

Which of the following are NOT typical secondary sexual characteristics in girls? (Please highlight all INCORRECT answers.)

A.

A decrease in subcutaneous fat. 

B.

Increased production of androgen. 

C.

The menarche.

D.

Emergence of pubic hair.

9.

Variations in the pace of development during puberty can lead to complex outcomes – for example: (please highlight all correct answers)

A.

Those who mature early are seen and treated as more adult-like. 

B.

Early maturers may experience some insecurities as they compare themselves with their peers.

C.

Some early maturing boys are drawn into activities that get them into trouble with parents, teachers and other authorities. 

D.

Some early maturing girls report higher levels of psychosomatic distress during their teens. 

10.

Which of the following is an explanation for why maturing early can be a negative experience?

A.

It leads to expectations that they are not equipped to handle

B.

They feel they are missing out of prized achievements

C.

Both A and B

D.

Neither A nor B

11.

One of the following statements about cognitive development in adolescence is INCORRECT. But which one?

A.

There is an intellectual growth spurt during puberty.

B.

Piaget referred to adolescence as the period of parapsychological reasoning. 

C.

During adolescence, many individuals are able to deal with more abstract cognitive tasks.

D.

In tests such as the pendulum task, adolescents who have reached the formal operations phase are able to test the effects of varying a factor while holding the other factors constant.

12.

Select the FALSE assertion from those given below. Formal operational thinkers:

A.

Tend to be much more systematic in their reasoning processes than non-formal operational thinkers. 

B.

In addressing problems, contemplate the range of possible combinations, formulate hypotheses, and test them.

C.

Are not restricted to tackling science education puzzles.

D.

Are not generally interested in the principles governing the broader social environment. 

13.

Adolescents in the formal operation phase correctly surmised that the speed of a swinging pendulum was dependent on the _______.

A.

Weight of the object

B.

Length of the string

C.

Height from which it is dropped

D.

All of the above

14.

How do adolescents correctly guess what influences the speed with which the pendulum swings?

A.

They set about the task haphazardly

B.

They tried guessing random combinations of factors

C.

They tested the effects of varying a factor while holding the other factors constant

D.

They benefited from their larger store of knowledge

15.

Formal operational thinkers are NOT dependent on ________.

A.

Complex scenarios

B.

Evaluating alternative possible outcome

C.

Proposing abstract reasoning 

D.

Concrete operations tied to immediate objects/actions

16.

Which of the following statements is NOT true of adolescent reasoning?

A.

Recent alternative accounts of adolescent reasoning draw upon information-processing theories.

B.

It has been argued that changes in processing capacity or efficiency underpin development in adolescence.

C.

Adolescent development may be characterized by improved memory skills or attention span.

D.

The development of memory and attention during adolescence are independent of ongoing neural developments. 

17.

Operational thinkers can correctly create, and reverse the creation of chemical solutions. What was NOT a step in this accomplishment?

A.

Contemplating the range of possible combinations

B.

Kept a record of combinations and outcomes

C.

Random trial-and-error mixing

D.

Tested hypotheses sequentially

18.

Which is NOT a field of interest that opens up to formal operational thinkers?

A.

Politics

B.

Human Rights

C.

Religion

D.

None of the above

19.

True or False: Formal operational thought is restricted to tackling science education puzzles, like the chemistry task, and the pendulum task.

20.

Which is an accurate challenge to Piaget’s theory of the formal operational period?

A.

Adolescents do equally well at tasks for which they have not had performance training

B.

The evidence supports assumptions of domain-general transitions

C.

Small proportions of adolescents are capable of formal operations

D.

A strong existing knowledge base does not affect cognitive tasks

21.

Which cognitive development do researchers agree with Piaget that adolescents show improvement in?

A.

Deductive Inferences

B.

Inductive Inferences

C.

Mathematical Decision Making

D.

All of the above

22.

According to domain-specific models of cognitive development, adolescence developmental progress depends on __________.

A.

Domain general transitions

B.

Clearly defined age-related stages

C.

Exposure to cognitive tasks and challenges

D.

All of the above

23.

True or False: The frontal lobe continues to develop during adolescence.

24.

Which of the statements given below are features of adolescents’ social and emotional development? (Please highlight all correct answers.)

A.

The adolescent’s social world changes fast due to the impact of other people’s expectations. 

B.

During adolescence, gender becomes less important for most individuals.

C.

Throughout adolescence, parental influence is virtually irrelevant.

D.

In adolescence, there is a narrowing of the gender ‘pathways’. 

25.

In societies that allow for mixed gender interactions in adolescence, a number of factors bear on young people’s sexual development: (please highlight all correct answers)

A.

Increased hormonal levels during adolescence are associated with heightened interest in sex in girls. 

B.

Increased hormonal levels during adolescence are associated with heightened interest in sex in boys. 

C.

Girls tend to be more influenced than boys by parental attitudes and friends’ sexual behaviour. 

D.

None of the above.

26.

Which of these is true of peer and parental relations in adolescence?

A.

In early adolescence, all patterns of adolescent behaviour show a greater association with peer than with parental practices.

B.

Parents are often the first models for their offspring in terms of smoking and drinking. 

C.

By late adolescence, individuals have completely outgrown peer influence. 

D.

An adolescent’s choice of peers is not influenced by his or her parents.

27.

In a study of teenage girls’ posters of male stars, Karniol found that sexually inexperienced girls ______.

A.

Favoured stars with more masculine features

B.

Favoured stars with more feminine features

C.

Had more posters on their wall

D.

Were more likely to talk to their friends about their favourite idols

28.

What purpose do film star posters serve for teenage girls?

A.

As a socially acceptable, and safe love object

B.

To assuage developing needs for attachment

C.

As a replacement for real boys that may not have matured enough to begin relationships

D.

All of the above

29.

True or False: By the age of 17, many adolescents have experienced sexual relationships.

30.

Which is NOT true concerning the adolescent and his/her peer group?

A.

Peer pressure dictates moral values and anti-social behaviour

B.

Adolescents spend increasing amounts of time in the company of their peer group

C.

Peer relations are crucial to adolescents’ sense of identity

D.

Peer influence is very strong with regards to appearance and socializing

31.

True or False: Parents are often the first to offer adolescents an opportunity to try alcohol and cigarettes.

32.

Older adolescents attribute their drug use to ________.

A.

Parents

B.

Peers

C.

Media

D.

All of the above

33.

Which of the following is NOT a reality of the majority of adolescent experiences?

A.

Adolescents undertake major responsibilities at home, school and work

B.

Adolescents feel confident of resisting peer pressure and don’t see it as a major problem

C.

There is a huge generation gap between adolescents and their parents

D.

Most adolescents experiment with legal and illegal drugs

34.

There are many aspects of adolescent development about which there are strong folklore beliefs that are not actually borne out by the research evidence. Which of the following are ‘myths’ of adolescence? (Please highlight all FALSE answers.)

A.

Adolescence is always a period of storm and stress. 

B.

Adolescents reject their parents as companions and as sources of advice.

C.

Adolescents spend less time in front of the television than other age groups.

D.

Only a minority of adolescents experience serious psychological disturbances.

35.

Which of the following statements about adulthood do we know to be true?

A.

Scientists divide adulthood into two broad phases: early (18 to 50 years of age) and late (51+).

B.

We are now able to say exactly when adulthood commences.

C.

Both (a) and (b).

D.

Neither (a) nor (b). 

36.

Which is NOT a marker of reaching adulthood?

A.

Gaining the vote

B.

Joining the military

C.

Gaining financial autonomy

D.

All of the above

37.

True or False: Across cultures, a person who is financially independent, married, and has established their own home would be considered an adult.

38.

Physical development of early adulthood is characterized by ___________.
A.

Attaining full heights

B.

The beginnings of a decrease in physical strength

C.

A time of peak physical capacity

D.

A reduction in agility and coordination

39.

True or False: By the end of adolescence, people have yet to reach the levels of reasoning needed for adult society.

40.

Which is NOT an example of a dialectical force?

A.

A person is warm and generous and then self-centred and aloof

B.

Buying fish and chips for dinner because you are hungry

C.

Your dad tells you to avoid drugs as he is smoking a cigarette

D.

A really hot jumper is on sale for £100, you have £20 in the bank and a new credit card

41.

Identify the FALSE statement from those given below, regarding cognitive development in early adulthood:

A.

By the end of adolescence, cognitive development is fully matured and unlikely to undergo changes until the decline of late adulthood.

B.

There are wide individual differences in cognitive attainment among young adults. 

C.

Most young adults are able to deal with cognitive tasks in a more abstract way than before.

D.

Young adults are able to attain solutions to problems by comparing possible explanations.

42.

Which of the following is true of Riegel’s theory of adult development? Riegel proposed that:

A.

Dialectical conflicts are inevitable when different speech communities come to live in the same urban neighbourhood.

B.

Adults are able to resolve all conflicts that they experience.

C.

Postformal thought is the fifth stage of reasoning. 

D.

Achieving the intellectual ability to deal with the contradictions that confront us in our everyday life requires us to abandon formal reasoning and rely on emotional intelligence.

43.

An adult who has achieved postformal reasoning ___________.

A.

Knows that life is often ambiguous and complicated

B.

Is unable to internalize differing points of view

C.

Did so early in early adulthood

D.

Can not integrate understand that solutions may be context-dependent

44.

When studying postformal reasoning, which complex topics are NOT problems that participants are able to justify and discuss?

A.

Science

B.

Personal relationships

C.

Education

D.

All of the above

45.

If your lecturer springs a new theory on you, and you realize that, in certain circumstances, she is wrong then what stage of development have you reached?

A.

Postformal

B.

Absolutist

C.

Relativist

D.

Dialectical

46.

Which of the following is NOT a feature of Kramer’s stage model of adult reasoning?

A.

The absolutist phase is the first phase of Kramer’s model.

B.

The person in the absolutist phase is capable of addressing many problems.

C.

The person in the absolutist phase tends to believe that all problems have a correct answer.

D.

The undergraduate experience (where one is regularly dealing with conflicting theories and ideas) is likely to result in the young person becoming fixated at the absolutist stage. 

47.

Which of these is NOT a feature of Kramer’s relativist phase?

A.

People become able to integrate competing positions and achieve synthesis. 

B.

People become aware that the ‘correct’ answer may depend on the context.

C.

Students now appreciate that there are many theories and much conflicting evidence.

D.

People can assume that very little knowledge is dependable.

48.

One of the following is NOT a feature of Kramer’s dialectical phase. Which is it?

A.

People appreciate that there are often different perspectives on any given topic.

B.

Dialectical reasoning is fully realized in early adulthood. 

C.

People can understand why there are diverse views.

D.

Dialectical reasoning is more characteristic of people studying at higher-degree level or of university staff.

49.

A person who has reached the dialectical stage would believe which of the following?

A.

Murder, in any circumstance, is wrong

B.

Murder is to be avoided, but is acceptable in self-defence

C.

While different people have different views on what defines a murder, for me, murder is defined as an act of purposeful harm that ends in death

D.

None of the above

50.

Which is NOT one of the primary mental abilities that Schaie looked at?

A.

General Intelligence

B.

Numeric Facility

C.

Inductive Reasoning

D.

Spatial Orientation

51.

Intelligence ________.

A.

Development ceases at the end of adolescence

B.

Increases into adulthood

C.

Only increases in inductive reasoning

D.

Only decreases in numeric ability

52.

Schaie’s Seattle longitudinal study ____________.

A.

Allows researchers to chart individual differences across the lifespan

B.

Examine the influence of health, demographic, and personality factors

C.

Led to important studies of family similarity in cognition

D.

All of the above

53.

Identify the ERRONEOUS statement from the below, in relation to Erikson and Levinson’s theories of personal development during early adulthood:

A.

Erikson sees the dominant focus of early adulthood as the development of intimacy.

B.

Levinson extended some of Erikson’s ideas to explain the relationship between the developing individual and the demands of society.

C.

Levinson maintained that all normally developing adults progress through the same stages in the same sequence, and at roughly the same pace.

D.

Levinson’s original sample was limited to women, with subsequent work showing that the model does not fit male development. 

54.

Which of the following are correct descriptions of stages in Levinson’s theory of personal development during early adulthood? (Please highlight all correct answers.)

A.

Early adulthood begins with a sudden regression towards increased dependence upon one’s parents.

B.

The second sub-stage is organized around forging a pathway at work and attaining a special personal relationship. 

C.

The ‘age 30’ transition applies only to women, who begin to worry about the ticking of the ‘biological clock’.

D.

33–40 is the ‘settling down’ period, when people have usually found their niche in life. 

55.

Levinson’s theories for personal development ______________.

A.

Emphasized the social role requirements at different life stages

B.

Stated their was an interaction between personal growth and relationships

C.

Both A and B

D.

Neither A nor B

56.

Which statement about Levinson’s theoretical “Dream” is FALSE?

A.

It is formed between 17-22 years of age

B.

It is the vision of an adult’s life goals

C.

It is a motivation for continuing personal development

D.

It is specific to personal spheres of a person’s life

57.

Which is NOT characteristic of the transitional period of development that occurs in the late 20s to early 30s?

A.

Reviewing the Dream

B.

Looking at the choices made

C.

Consolidating professional and domestic lives

D.

Taking stock of endemic problems

58.

Unlike in infancy, adult attachments motivate us to __________.

A.

Seek proximity to the person

B.

Engage in extensive eye contact

C.

Become distressed at separation

D.

None of the above

59.

Which of these do we know to be true about intimacy in early adulthood?

A.
According to Erikson and Levinson’s developmental models, young adults are developing a sense of personal identity rather than a need for closeness to others. 

B.

Finding and developing relationships with an intimate partner is not a priority for most young adults.

C.

There are strong similarities in the ways people develop early relationships with caregivers during infancy and intimate adult relationships later on. 

D.

Intimacy in early adulthood is exclusively focused on sexuality and only in middle age does it mature into emotional intimacy.

60.

 Some social psychologists (Mickelson, Kessler & Shaver, 1998; Shaver & Clark, 1996) have argued that the types of attachments we form as adults can be classified using the framework that Ainsworth and others developed to account for infant attachments. But which one of the following is NOT one of these types of attachment?

A.

‘Avoidant’ lovers. 

B.

‘Anxious/ambivalent’ lovers.

C.

‘Romantic’ lovers. 

D.

‘Securely’ attached lovers.

61.

Identify the correct assertion from those given below, with regard to attachments in early adulthood:

A.

Shaver and colleagues found that the majority of adults fell into the ‘anxious/ambivalent’ category.

B.

Individuals who experience secure romantic relationships tend also to report having had relaxed and loving parents. 

C.

‘Anxious/ambivalent’ adults reported lower levels of communication and emotional support from their parents.

D.

‘Avoidant’ people feel their parents were over-controlling and too emotionally involved in their lives.

62.

Which is NOT a characteristic of an Anxious/Ambivalent Lover?

A.

They fret that their lover does not love them enough

B.

Anxiety causes them to pressure their lover

C.

They find intimate relationships comforting

D.

They worry that their lover might leave

63.

Which is NOT a characteristic of Avoidant lovers?

A.

They find getting close to others uncomfortable

B.

They are preoccupied with fears that their lovers will cheat on them

C.

They find it difficult to trust others

D.

They are reluctant to commit themselves fully

64.

Which of the following statements about relationships and attachment styles is FALSE?

A.

Anxious/ambivalent people had fewer relationships

B.

Anxious/ambivalent people’s relationship were less enduring 

C.

Avoidant people were more accepting of casual sex

D.

Secure people’s relationships were more stable and loving

65.

Which is NOT true of physical changes experienced by people in mid-life?


A.

Most people experience these changes at 40

B.

Appearance of grey hair

C.

Increases in wrinkles

D.

Putting on weight around the waist

66.

What might you observe someone with presbyopia doing?

A.

Breathing heavily

B.

Holding books farther away

C.

Saying ‘What?’ a lot

D.

None of the above

67.

Middle-age is characterized by all of the following except:

A.

Reduction in cardiovascular efficiency

B.

Farsightedness

C.

Increased sensitivity to higher frequencies

D.

All of the above

68.

Which of these assertions is NOT the case in relation to the menopause?

A.

During the menopause, many women suffer physical and psychological discomfort, including insomnia.

B.

Menopausal status is a strong predictor of psychological distress. 

C.

Signs of aging prompt many people to review their lives.

D.

Menopausal women who take regular aerobic exercise report more positive moods and less physical discomfort than non-exercising peers.

69.

Menopause does NOT _________.

A.

Cause women to suffer loss of libido

B.

Vary in intensity among individuals

C.

Vary in symptoms across cultures

D.

Maintain similar societal stereotypes

70.

Which of the following statements is TRUE?

A.

Physical changes are not closely interwoven with psychological changes

B.

Behavioural changes can not moderate the effects of biological changes

C.

Both A and B

D.

Neither A nor B

71.

Which of these statements is accurate in terms of middle-aged people’s cognitive development?

A.

Mid-life is a volatile period in terms of primary mental abilities.

B.

On most measures of mental abilities, middle-aged adults perform slightly or substantially worse than younger adults.

C.

There is evidence for a decline in numeric skill in middle adulthood. 

D.

Middle-aged people do not perform so well in terms of psychometric measures of intellectual functioning.

72.

Which one of the following is true of cognitive development in middle adulthood?

A.

Researchers who focus on qualitative developments in adult reasoning have found evidence that development stops during early adulthood. 

B.

The progression through absolutist, relativist and dialectical reasoning stops between 30 and 40 years of age.

C.

Researchers who focus on qualitative developments in adult reasoning have found evidence that development continues during middle age. 

D.

In reasoning tasks, younger participants provide more balanced responses than do middle-aged people, who tend to have narrower perspectives on problems.

73.

Why do younger people perform better at ‘20 Questions’ then older people?

A.

They are better at problem solving

B.

They are better at conscious processing efficiency

C.

They are asked to perform similar tasks on a regular basis

D.

They have faster reaction times

74.

When studying ‘real world’ tests related to practical applications of reasoning, which is TRUE?

A.

Solution generation peaks at 60

B.

Middle-aged people scored higher than young adults

C.

Young adults performed the best

D.

Both A and B

75.

When adults are presented with a scenario concerning a pregnancy dilemma, with the female and male taking different views over whether to terminate, what is likely to occur?

A.

Younger-aged participants are more likely to take sides

B.

Middle-aged people are more likely to be swayed by emotion

C.

Middle-aged participants were more likely to rely on religious views

D.

Younger-aged people were more likely to side with the decision to terminate

76.

Which statement regarding generativity is FALSE?

A.

It is the feeling that you are making a contribution to the next generation

B.

It is only concerned with contributing to close family and friends

C.

It is indispensable for the quality of an individual’s life 

D.

It can be realized through personal attainments

77.

Which is an example of generativity in real life?

A.

A businessperson passes on her skills to a new intern

B.

A mother is proud of her children who have left home to enter the adult world

C.

A professor is satisfied that the majority of his class successfully passed

D.

All of the above

78.

Highlight the correct statement from the four given below:

A.

Recent research has shown that there is no correlation between generativity and subjective well-being.

B.

After Levinson’s ‘settling-down’ period, people no longer undergo radical changes in direction.

C.

Levinson argued that successful adult development beyond mid-life depends on us facing up to and resolving the mid-life crisis. 

D.

The mid-life crisis is a problem exclusive to middle-aged men.

79.

Which statement regarding stagnation is TRUE?

A.

It is a period of selflessness

B.

It is when a person has met their personal goals

C.

It is the feeling of having very little to offer the next generation

D.

It is a period of preparing for a successful second half of life

80.

What is the outcome of the resolution between the conflict caused by generativity and stagnation?

A.

Those who resolve it successfully experience rejectivity

B.

Those who fail to resolve it turn away from society

C.

It always leads to a period of heightened activity

D.

It can never be resolved

81.

What causes a mid-life crisis?

A.

Signs of aging

B.

Changes in the family structure

C.

Frustrations in the workplace

D.

All of the above

82.

Which is NOT a myth of the mid-life crisis?

A.

Turbulence and self-doubt are primarily experienced at mid-life

B.

The majority of middle-aged people experience a mid-life crisis

C.

There are many pressures on middle-aged people, especially in domestic life

D.

Most middle-aged people report lower mental health and self-esteem

83.

Which statement regarding pressures of middle-life is TRUE?

A.

People have passed the stage of worrying about ‘care-giver pileup’

B.

Children’s awareness of their burgeoning youth makes parents aware of their own physical decline

C.

The older generation is not, yet, a cause for concern

D.

The world of work has become less of a concern

84.

The quality of a person’s attachment to a partner has important implications in mid-life, which is NOT one of them? 

A.

Adjustment

B.

Personal satisfaction

C.

Dealing with life stresses

D.

None of the above

85.

Late adulthood: (please highlight all correct answers)

A.

Is the easiest stage to define precisely.

B.

Involves changes in general posture due to the loss of collagen between the spinal vertebrae. 

C.

Involves inevitable physical change that cannot be slowed down or influenced.

D.

Sees a deterioration of the senses, apart from taste and olfaction, which become increasingly sensitive.

86.

Which is an external change that characterizes late adulthood?

A.

Wrinkling

B.

Loss of subcutaneous fat

C.

Thinning of the hair

D.

All of the above

87.

Which statement about physical change in late adulthood is FALSE?

A.

It is not variable, but begins after the age of 60

B.

Aging of the skin is affected by exposure to sunlight

C.

Well-being of the digestive system is influenced by drug use

D.

Physical strength declines less in people who exercise regularly

88.

Which of the following does NOT become less sensitive in late adulthood?

A.

Hearing

B.

Sight

C.

Touch

D.

None of the above

89.

Physical senses _______.

A.

Remain important to the lifespan

B.

Are not connected to intelligence

C.

Are not related to social interactions

D.

Do not affect a sense of competence

90.

Which of the following statements concerning cognitive development in late adulthood is correct?

A.

In each of Schaie’s five tests of primary mental abilities, people in late adulthood perform significantly worse than those in early adulthood.

B.

In Schaie’s five tests of primary mental abilities, the variation of intellectual performance within the same cohort remains constant over age.

C.

Older people tend to perform less well than younger adults on tasks that are dependent upon reaction time and processing speed. 

D.

Training has little or no impact on the task performance of people in late adulthood, because it is too late to modify their abilities.

91.

Which is NOT a possible explanation for why there is some difference in cognitive development as we age?

A.

People of different ages experience different educational systems

B.

Intellectual capacity in the elderly is pervasively inadequate

C.

People of different ages belong to different cohorts

D.

Older people do not have the same opportunities to use many of these skills on a regular basis

92.

Which of the following tasks does research show people in their 20s performing better than people in their 60s?

A.

Inductive reasoning

B.

Spatial orientation

C.

Perceptual speed

D.

All of the above

93.

When older (aged 61-80) students were compared to students of younger ages in the same class, what was found?

A.

Younger students performed worse on perceptual speed tasks

B.

Performance on processing speed tasks was the same

C.

Older students performed better on reaction time tasks

D.

Performance on formal reasoning tasks was the same

94.

Which of these statements is true when we consider the social and emotional development of older people?

A.

According to Erikson, people in late adulthood do not experience any more conflict.

B.

Erikson believed that as people come towards the end of their life, they no longer review how they feel about themselves.

C.

Levinson saw the period from approximately 50 to 65 as the ‘baby boomer’ transition during which people become increasingly selfish.

D.

None of the above. 

95.

Which is a question that people ask themselves in late adulthood?

A.

Have I achieved the goals that I have?

B.

Have I been a burden to others?

C.

Both A and B

D.

Neither A nor B

96.

Which statement about relationships is FALSE?

A.

The marital relationship may become more rewarding during old age

B.

Satisfaction with marriage is rated higher in middle-aged people

C.

Sibling relationships become more important as we age

D.

Friendships are as important in later years as they are earlier in the lifespan

97.

There are many losses and declines with age that we all have to deal with as we get older. But which of the following are NOT correct in terms of aging?

A.

There is no clear evidence among older people of a direct link between physical decline and depression.

B.

Social support from family and friends makes little difference to physical and mental health in the later years because the pace of decline is a biological inevitability. 

C.

According to the model of ‘selective optimization with compensation’, people face problems associated with aging by finding ways to handle cognitive tasks that minimize their dependency on their declining biological capacities.

D.

According to the theory of successful aging, it has been found that people who accept that they will be able to do less and less will enter a period of optimized self-decline adjustment. 

98.

Which of the following statements is TRUE?

A.

There are losses and declines with age

B.

Older people do not adjust well to changes associated with ageing

C.

Lower levels of enjoyment of life are related to growing older

D.

A characteristic of human beings throughout the ageing process is resignation

99.

In a study of older and younger golfers, what did NOT happen?

A.

Younger golfers were stronger

B.

Younger golfers performed better overall

C.

Older golfers were less prone to be affected by negative emotions

D.

Older golfers were more cautious

100.

Which is NOT an improvement that is connected with ageing?

A.

Pragmatic reasoning

B.

Creating oral narratives

C.

Mechanical/motor abilities

D.

Understanding moral dilemmas

